Math Concepts and
Estimation

Lesson 8a Math Concepts

SaMpla  Which is a reasonable estimate of the SaMple  What number is between
A height of a regular door? B 654 and 6677
A 2 meters J 653
B 3 feer K &76
C 4 yards L 656
D 35 centimetcrs M 672

® Look carefully at the numbers and figures for each problem.

* Read the question, look at the answer choices, then read the problem
again. This will help you find the answer.

1 The numbers in the tables below are 3 Which figure below is a parallelogram?

related by the same rule. What number A B
is missing in the second rable? i .i'
Table 1 d 1 2 2 4 &8 9
Table 2 o 4 8 a 16 32 ¥
A 33 C 3a “:

A
B 35 D 38

]

. . .
£ e g over the Gaget below 4  Inwhich figure is mgl-:dﬂ‘{? exactly H'?

On which part is it most likely to land? |
A L‘
B gh —
o B c
D K
J A L. B
K C M D E’
a0 Answermows M 1

o
M
B L
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5 Which is the value of a if '.2 = 33 9 Which is the grearest commaon factor
gre
A 2 C 4 of 21 and 357
B 3 D 6 A 3 c 7
B 6 D 9
& Which numeral has the same value as ‘1'; ?
| L 42 10 Which is another way of writing
x 41 M & | fourteen hundredths?
5 ' 5 ] 0.014
T  What should n:plm:l: the  to make the ]If t;_ll-i
number sentence true? M l*ll
9+ )+1=(1+4)+9 !
; ‘11 11 Which set of numbers has the greatest
C 3 average (mean)?
0 -I- A [1,2,9] C {259
B ([2,4,8] D [57.9]
8 “"::‘th"l‘::‘ﬁ:ﬁ':::::‘: 145 12 The figures below are congruent, Which
sriblein o mcpright? ®x 41 pair of parts is identical?
] 5 145 A E F 4
K & 5.0 D
L. B 50145
M 9 N
B8 C G
| DE and HY . BCand GH
K AFand GH M CDand KJ
Answerrows 5 T 9 1" 41
& 8 10 12
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13 Which figure is missing in this pattern? 16 Which of the following statements is truc?
P L N ] ; >
L | | I!- ]
I L_x R H ]:i = '_I_
; /- L 2=
A L:j-' c () 3.
“:J—"’ M 11
B [ ] D[
S 17 About whart fraction of the figure is shaded?
y
14 The best unit for measuring the number ;,-‘ K‘x\\‘
of p:npl: in New York Cil}' is J .m"k
J  tens of people. ;'f \

K hundreds of people.
L. thouwsands ut']:hrnl:[r-
M millions of pl:np]::.

15 What should n:pllu: the . to make the

1
A Less than =
number sentence truc? 4

2+9x <43 B Hcrw::n%:l.ndl—
A 3 i
B 4 ' Berween ; :].I'IE'.%
C 5 1
D & I3 More than .

18 How should the numeral 489.231 be
written if it is rounded to the nearest
hundredth?
| 490
K 489
L 4892
M 489.23

42 Answer rows 13 15 i 17

14 AT - 18
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Lesson 8b Math Concepts

Directions: Read each mathematics problem. Choose the answer that is better than the others.

S8MPle Which fraction is not cqual 1o 1,257 SAMple  If c is a positive number, what should
A A ; B replace the [ to make the equation
1 truc?
B i cx1l= E.-.I
C i J 0
K K 1
D 1': L ¢
M d

* Sometimes you can solve a problem by thinking. You don't have to
compute to find the answer.

1 Rovwas plaving with a six-sided game 3 The numbers in the table below are related
block. The first time he rolled a 3. to cach other by the same rule. What
What is the chance that he also rolled number is missing in the second row?
a3 the second time?

A L Rowl| 1 | § | 9 M | 8
' Rowz| 24 | 28 [ [J]| a7 | &
B 3
-5 1 ‘.
C 3 B 32
C 34
D - :
12 D 45
2 Whichis th t soluti ;
IR RS FEET E “_ i & Whena=75and s =7, which of these is
0.7 = .42 5
J 006 the value of 3a + 662
21
K . J_ i
T sl
M 60 . 2
M 63
Anewer rows A 1 3

B 2 4 %



e
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Which selid hgure could m
be formed using all the

pieces at the right? m
A A cylinder

B A cube ﬁ
C A pyramid

D A cone

The set of numbers

12,4, 9,16, 25, 36, 49, 64, §1]
can be described as a set of

]  prime numbers.

K  even numbers,

L. squares of numbers,
M factors of 160,

If 60 + s = 15, what is the value of 15 x 5?

A g

B 4
C 15
1> o6l

If the product of two whole numbers is 25,
which of the following best describes the
numbers?

]  Both are odd.

K Both arc even.

L One s even and one is odd.

M  There is not enough information to tell,

Camille has 4 Jﬂ:unw buttons, 3 brown
buttons, 3 green buttons, and 2 blue
buttons in a jar. If she takes buttons out
of the jar without 1-.'m1'.ing, at most how
many buttons will she have to take before

she gets 2 buttons of the same color?
A 4

10

n

12

13

14

If ¢ is a positive number, what should
replace the [ to make the equation true?

=0

|

kK 4
L 0
M 1

Which number is between 3,861 and 4,259

A 38la
B 3,859
C 4195
D 4295

Karen ran the first mile of a race in

9 minutes and the second mile in 11
minutes. What was her average speeid for
the two miles?

1 2 munuees

K 5 minutes

L 10 minutes

M 20 mimnutes

If the 4in 4,971 is changed to an 8, how is
the value of the number changed?

It increases by 4.

It increases by 4,004,

It increases by 8.

It increases by 8,000,

ol ol =R

If vou add two odd numbers together,
what 12 true about their sum?

T It must be odd.

K It must be even.

L It may be even or odd.

M It wall be a prime number.

B 5
C &
B 12
Answer rows 9 T

& 8

| 4T 14



